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[EEISAFV—HE—EE

e 4 5"?(’,? CR NBR| NR EPOM] | _ A4 5@55 CR NBR| NR EPDM] | J4 7@5 CR |NBR| NR [EPDM
$1i58 RT| 1|1 | 4]4 SUAnFH RT| 5|4 |52 27TV 703 |—-|—-|-
A—JRUFHZR RT| 5|5 |5 |5 [pix~ RT| 5|5 |5 |5 | |RF7UBTFIL RT|5]|2|5]|5
a—La—I 652 | 1|5 |—| |HEHEE 65/ 1|1 [3]2 RECRIViH RT|3]|1|5]|5
BEER (25%) RT|2|2]2 |1 BRRE RT| 2|1 ]1]|2 AR RT| 2|5 |1 |—
FEEE K EF) RT| 4|4 |3|2 DR RT|1|1|5|5| |AxE 150 5 | 5| 5 | —
BEER (R 50 RT[2 1|1 |1 AR RT| 5|1 |55 |BKK 651 [ 1|1 [1
BEER (FB7K) RT| 2|4 |11 HEE (10%) RT| 1|23 |1 Bk 65|21 ]2 |1
EERE T3V RT|5|5 |5 |1 FHE (30%) RT| 3|2 |3 |1 €5F> RT| 1 [1]1]|—
EEEE 7 ILI=") L 653 |3 |3 |1 E (50%) RT| 5| 5|5 3| [th#-REKIFMI-LF) 70|42 —-|-
BT E=Y L RT|[1 |2 |1 |—| |WEB7ILI=ZIA 65| 13|21 /¥ Y4970 (DOS) 150 5 | 5| 5|2
ErEs(V AL RT| 5| 5| 5| 2| WME7E=JL 651 [ 1[3|1 AV RT|5|5|5]|2
EFEETFIL RT| 4 | 5| 5|2 |WMEHILIIL 651 [ 1 [ 1|1 BINCBBTFIV RT|5|—1|4]|-—
BB L 652 |1 |1 |1 T L 65| 1 [ 1|1 [1 2= RT|3|2|5]|5
BB HILS Y L 65| 2| 1|21 THER R 65| 1 2|11 S LA 70| 5|5 |2 |-
B )L O—X RT| 4 | 4|2 |—| |WEEEFNIIL 652 2|2 |1 SYYLE RT|5|5|5]|-
[id s 651 |3 |1 |1 THESE 651 [ 1 [ 1|1 S9YLE 150 5 | 5| 5 | —
BEERXF IV RT| 2| 4|52 FEmRER 651 | 1| 1] 1 tert-7FI TV a-Ib RT| 2|2 |2|2
EEB =V RT| 22|11 T AULIIN 65| 1 | 2 | 1 | —| |493-=27200()2vi) 150 — | = | = | —
BB T FIL RT| 55| 4|1 =LY RT|2|1]|5| 3| |#93—=7F60 4501 [ 1|1 [1
"I 651 | 1|1 ] KREIRRE RT| 4|4 ]|2]|2 Ha—=2% F-61 4501 1 |1 |1
FILFIVEE 651 |2 |1 |1 REEREEHIV ) L RT| 2|2 |3|—| |478m@ RT|1[1]5]1
% RT|[1 |4 |41 REIRFEST NI L RT|1 |21 |—| |RE7>EZIL 652 | 4|2 |1
&3 100/ 5 | 5 | 5 | — | |E/OLEHUIL RT| 1 [ 1| —|—| |REEHLIIL RT|1[|3]|2]|-—
ZERMbA A (FoKBEER) RT| 5|5 2|2 BYOLEFNIYL RT| 1 [1]1]|— REEF NI L 651 [ 111
PELY: 65| 2| 2|21 K#ER 100 2 |2 | 3|1 EY 652 1|1 |1
JaAYBIFIV RT| 3|5 |1 |—| |k&R 175/ 5 | 5 | 5 | 1 PR RT|2]1|5]|3
LES RT|5|5|5]|5 ST ALKREE 65(2 (2|1 |1 FATT> RT|5|5|5]|-
1Lk (40%) RT| 2 |3]2|1 ST AR L 65| 1 [ 11 |1 FATREEF NI L RT| 1|1 ]1]1
BIETIIZIL 653 |3 |21 ST ALFNIT L 65| 1 [ 1|1 [1 FARIN=T 3l RT|5|5|5]|—
B~ E RT|5|5|5|5 7 AbSR 65| 1 |2 |11 FhI> RT|5|4|5]|5
migEfbiRER RT| 4 | 4|5 |—| |Z®A 150 — | — | = | — | |FLrEVH RT| 4|25 |-
STEN TV 651 |3|3]1 Eh(B) 150| — | — | = | 5 RAHZX RT|1|[1]|3]|5
SAUTOEI R RT| 5|5 | 4|1 El(C) 1200 3 | 2 | = | —| |FHU> RT|5|5|5]|5
SIFINTI RT| 1|21 ]—]| |/P4 RT| 5|1 |5]|5]| |7 RT|5|1|5]|5
JIFII—FIL RT|3|5|5]|5]| |JP5 RT|5|1|5]|5 NFE S mm D RT|2|1]5]|3
JIFLLY)IA—I RT[1 [ 1|11 i3 RT| 22|21 N)T7EF> RT|[2 2|21
JExH RT|5|5| 5|1 7K$R RT|1[2 1 |—| |[pzs/—n73> RT[1]2|1]2
DEE RT| 5| 5| 3| 2| |KEbhLyL 65| 1 |1 |21 NJZOILIRS RT|5|5|5]|5
SO RT|5|3|5]|5 TKERIEHYT L 65| 1 |2 |1 ]|— MJZOILIFL RT| 5|5 |5 |5
IIIANXIILT I RT|5|3|5|5 KERIEFRU™ L (50%) RT[1[1]2]|1 N)ZOLIFL 70| 4|5 | —|—
T71zI RT| 5| 5| 5|5 | |KE{tFrIIL 70024 | -1 ]2 RT|5|5|5]|5
JTTZIAFHAR RT| 5|5 |5 |5 | |KEMENUIL 65| 12|21 B RT|2|1]5]|2
IITZNRAAIATAR 100] 5 | — | = | — | |KkE{L=T2> 9L 651 [ 21 |1 FIH 70| 4|4 |5]|5
INRET RT| 5| 2| 5|5 |K&FEHZX RT| 11|21 FIR) 7055 |5]|5
STFINI—FI RT| 4| 3|5 |—| |[KFEHX 65| 1 |1 |21 FIR) 7052 |5|5
IRLTUINI—FIV RT| 4|5 |5 | 2| |A#1RO—JL 500 70/ 5|5 |51 FLEE RT| 1|1 ]1]1
SAFIT =Y RT| 5|5 |5 |—| |xp1rE—IL7000 70/ 5|5 |51 FLEE 65| 2| 2|2 |-
FAFIVRIVLT IR RT|5|3|5]|3 AFL RT|5|5|5|5]| |=#7 65| 1 |1 |1 |-
SUONFHL RT|4|2|5]|5 27TV RT| 2|2 |2 |—| |ZtEt7E=VL RT[1]1|1]=

. Jh 71'?01 CRNBR| NR EPDI| | . A4 5@(’3‘3 CRNBR| NR EPDMI | 4 5@55 CR |NBR| NR |EPDM
kI FL RT| 5|5 |—|—| |7o/me RT|2 |1 |5 |5 | |AE RT|—|5|1]-
- [ 5 65— | 5| —|—| |[FEELTILO-L 651 | 1|1 ]1 E/UOIVERES RT|2 3|52
—hAI-FIL RT|— 1|51 ]|—||7avz> RT| 3| 4| 4|1 E/EZLTEFL RT|[2 1|21
bt Ny m P 92 RT| 5|5 |5|2]| [7a RT|2|1|5]|5 TEIRFAH R RT| 2|2 |31
—rANA RT| 5|5 |5 | 3| |72uEg(EK) RT| 1| 2| —|—| [3v% 6533 |5|2
—ranstE 70| 5| 5|5 | —| |72VESTFIL(DBP) RT|5|5|5|2 EaEg 100/ 5 | — | — | —
ZhAXE RT| 2|5 | 2| 2| |72VE 477 (DOP) 70/5|5|5]|2 SAMTOERH RT|2|1]|5]|5
ZBlbA A (BHEAZ) () RT| 2|52 |1 TFNTEFIVISILANTF|RT| 2 | 4 | 2 | 1 Fyh— RT|5|4|5|5
ZE{LiEER RT| 5|5 |5 4] [vrra-—n RT| 11|23 Syh—iaHEl RT|5|5|5|5
ZEbR (kB R) (%) 651 | 2|1 ]| 2| |[FFIL7LFER RT| 4| 4|52 S—K RT[1]1 |52
ZRRfbRER (RBRAZ) () 651 |1 |1 ]2 |FFrrsir RT| 5| 4| 5|5 | |BibKksEE) RT[1 ] 1 |11
et o RT|5|3|5|5 TFIVAIVERIV RT| 3|3 |5 |1 BAbk 3R (%) 65| 2 | 5|5 |1
NRE—IL150 70| -5 | —1]2| |FFIErE-X RT| 2 | 1| 1| —| |BMEKZEGE) RT|1]5|5](1
N{REA—JL200 700111 |—=1]2 1-75> RT| 1 [ 1| —|—| |BMbKECR 652 | 5|51
AT (N=E% RT| 4| 3| 2| —| [~¥YT7LFER RT|1 5|51 Bl (10%) RT[1 ]2 |11
INIVIFUBE RT| 2|1 |22 AFA RT|2|1]5]|5 Bl (10%) 651 |22 |1
INg— 382141 AFLTILA—IL 7002 | 2|1 | 4| |BE(G0%) RT[1 [ 1 |11
=13 651 2|1 |1 ¥t 35|/ 3| 2| 5|5 | |HBEGO%) 6533 |3 |2
bl RT[1]1|4]2 NTE RT| 2| 1| 5|5 | |BE50%) RT|2|2]3]|2
EVUUEE RT| 2 (3|2 |- NI ILA—IL 653|542 B4 (98%) RT|—|—| 4|2
BB (20%7K55H) RT| 3|2 |3]|—| |~>or@74) RT|2 |1 |5 |5 | |Fif(98%) 70/ 5|5 |5 |-
ey RT|5| 2|5 ]| —| [~N>x7LFER RT|5|5| 5|1 s (RIE) RT|5|5|5|—
=% RT| 5|5 |52 |~xtr RT| 5| 4| 5|5 | |FBEEESH 65| 1 [ 1 [ 1|1
E—L RT[1 ]2 |11 Ny 70| 5| 5|5 | — | |mE7II=ULA 65| 1 [ 21 |1
I7AYI LV (REEIVIV—T) RT| 4|4 |—|—| [~NohUa—T RT|1 |1 |5|5| |mEB7E=IL 651 [ 1|1 [1
TIZIIFILI—FIL RT|4|5|5|5| |&x7& 65| 1 | 2| 1| —| |BEEIIIL 651 1|21
TN RT| 5|5 |5 |5 R 651 2|11 BRERHILS T L 65| 1 |2 |11
TIZIVERSTY RT|5|5|2|5 RIBTII RT| 2 |1 |5 | — | |BBEEFNITLGRIEE) 651 [ 121
T LT IVIZ L 651 2|1 |1 REFE 65| 2 | 2| 1| 2| |FBEE—&% 65| 2 |1 |1 |—
T b 18 651 3|1 |—| |FKL=ur RT| 1 [ 1| 1|1 FREeSE — 8% 651 |3 |1 |-
TyfbR 65— | 5|5 | —| |w>m(120) 75| — | 1| 5| 5| |FEEsR 65| 1 [ 1 [ 1|1
7L KFEFE<65% RT|2|3]|2]1 <2 (160) 75— |1 |5|5 W=V RT|1[1]2]|1
71 bk FERE<65% 60| 4| 5|3 | 4| w1 B RT| 5|5 |5 |5 | |BEA\UIL 651 [ 1 |1 [1
7 bk ERE<65% RT| 5|5 |53 |k RT| 1 [ 1| 1|1 B~ X L 651 [ 1 |1 [1
7 bk EBE<65% 60 5|5 |5|5 MIL-F-25558F RT| 2| 1| 5|5 | |BBEv s> 651 |21 |-
75> RT| 5| 5| 5| —| |MLF-25576A RT|2|1|5]|5 )2 BE<45% RT| 2|5 |31
TINTS5—I RT| 3|4 |31 MIL-H-5606 703|155 1) B>A45% RT|2 | —|—|1
ZITYILTINA—IL 70 3| 5|51 MIL-L-7808C RT| 5| 2|5 |—| |UBEE>45% 653 | 4| 2|3
7011 RT|4|2|5]|5]| |3y RT| 1 ]2 2|1 LB KETEZIL 65| 1 [ 1 [ 1|1
TEA1 70% AR 30% (45| 5| 2 | 5 | — | [339nr 65| 2 | 2| 1| —| |VBKE=ZF>EZYL 65| 1 [ 1 [ 1|1
70212 RT|[2 ]2 | 2| 2] |xFIAxIK RT| 5| 5|5 | —| |[JEB=F>E=ULA 651 [ 1|1 [1
JO212 70% AFHE 30%70[ 45 | 2 | 1 | 5 | — | |[*&UUILEE RT| 5|5 |5 |—| |VBITrYIFIL RT|5|5 |21
222 RT[1]5 |11 AR IVEEAF IV RT|5|5|5]|5 LB KFF I L 65| 2 [ 1 [ 1|1
70222 70% A 5M R 30% 451 3|5 |5 | — AFIJLTIVA—) RT| 1|1 ]1]1 U BEIKFRZF NI L 652 | 1|11
702113 RT|[1 |1 |55 |xFLI—FI RT| 31|21 ) BEN) T FIL RT|5 |5 |41
J011370% AE##E30% 45| 3 | 1 | 5 | — | [*FIAVTFIThe RT|3|5|5]|3 DL BR=FR) L 652 1|1 [1
70114 RT[1]1|1]1 XFIVIFIVArh RT|5|5|5]|1 o oEg 653 |1 |1 ]—
T4 70% AFE#R30% |45 1 | 1 | 5 | — | [*Frteirn—X RT| 2| 1| 5| —| [*2USBEFRIIL 65| 2 [ 1 [ 1|1
LA 500 70% AE#E 30% 45| 3 | 2 | 5 | — | |#EE 652 | 2|52 DIR—IL () BETZF V) 655 |5 |51
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